
RZR Battery Tray 

P/N 10108-EMP 

Fits: Polaris RZR 

9-7/8”x 7-1/8” x 6-3/4” 

Includes: 

1. Battery Tray 

2. Top Strap 

3. (2) #14 Tek Screws 

4. (2) 1/4-20 x 1” Screws –Hex Head 

5. (2) 1/4” USS Flat Washers 

6. (2) 5/16” Battery Lug #36221 

Installation: 

1. Using a hack saw.  Cut out your old bat-

tery tray  (see fig) 

2. Slide battery tray into area.   

3. Secure front with TEK screws (if neces-

sary) 

4. Secure strap using 1/4 bolts. 

5. Using old bolts from original strap, bolt 

tray into place 

Pictured with an Optima 

34/78-980 Red Top 

RZR Battery Tray 

P/N 10108-EMP 

Fits: Polaris RZR 

9-7/8”x 7-1/8” x 6-3/4” 

Includes: 

1. Battery Tray 

2. Top Strap 

3. (2) #14 Tek Screws 

4. (2) 1/4-20 x 1” Screws –Hex Head 

5. (2) 1/4” USS Flat Washers 

6. (2) 5/16” Battery Lug #36221 

Installation: 

1. Using a hack saw.  Cut out your old bat-

tery tray  (see fig) 

2. Slide battery tray into area.   

3. Secure front with TEK screws (if neces-

sary) 

4. Secure strap using 1/4 bolts. 

5. Using old bolts from original strap, bolt 

tray into place 

Pictured with an Optima 

34/78-980 Red Top 

RZR Battery Tray 

P/N 10108-EMP 

Fits: Polaris RZR 

9-7/8”x 7-1/8” x 6-3/4” 

Includes: 

1. Battery Tray 

2. Top Strap 

3. (2) #14 Tek Screws 

4. (2) 1/4-20 x 1” Screws –Hex Head 

5. (2) 1/4” USS Flat Washers 

6. (2) 5/16” Battery Lug #36221 

Installation: 

1. Using a hack saw.  Cut out your old bat-

tery tray  (see fig) 

2. Slide battery tray into area.   

3. Secure front with TEK screws (if neces-

sary) 

4. Secure strap using 1/4 bolts. 

5. Using old bolts from original strap, bolt 

tray into place 

Pictured with an Optima 

34/78-980 Red Top 

RZR Battery Tray 

P/N 10108-EMP 

Fits: Polaris RZR 

9-7/8”x 7-1/8” x 6-3/4” 

Includes: 

1. Battery Tray 

2. Top Strap 

3. (2) #14 Tek Screws 

4. (2) 1/4-20 x 1” Screws –Hex Head 

5. (2) 1/4” USS Flat Washers 

6. (2) 5/16” Battery Lug #36221 

Installation: 

1. Using a hack saw.  Cut out your old bat-

tery tray  (see fig) 

2. Slide battery tray into area.   

3. Secure front with TEK screws (if neces-

sary) 

4. Secure strap using 1/4 bolts. 

5. Using old bolts from original strap, bolt 

tray into place 

Pictured with an Optima 

34/78-980 Red Top 


